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PART | (66 imarks)

For each question from 1 to 30, four options ‘are given. Ong of them is the co_rrec_f answer Make

‘your choice (1, 2, 30r'4): Shade the correct oval (1, 2, 3 o 4} on the Optical AnswerShéet{DAS).

(30 x 2 marks)

1.  Study the classification chart b__e!ow.

[ Plants j
[ Group A q L Group B ]
I I 2
Rose 1. . Mgss |
1 Allamanda Bird's Nest Fern

How are the plants grouped? ‘ ,

Group A - Group B
1) Land plants. Aquatic plants
(@) Edible plants Inedible-plants
(3) Flowering plants Non-flowering.plants
(4) Poisonous Plants Nen-poisenous ;-)Iants

2. Which of the following statements isfare true about the large intestine?
A:  Undigested food is passed into the blood vessels at the large intestine.
B:  Water is removed from the undigested-food at the large intestine.

C:  No digestion takes place at the large intestine.

(1) Bonly

2 A and C only

(3) BandC only '
@ ABandC




~J.

Siudy the concept map below,

Lays eggs,
each with a shef]

Cannot fly btit can
run very fast

Has an outer
Covering of feathers

Which:piece of infermation given tells you that q is a-bird?

(1) . ltlays eggs.
@) It has two legs.

(3). It cannot fly but can run very fast.

1) It has an outer covering of feathers,
Study the table below.
Animals Breathing.organs
Ijog : A
Guppy B8
Platypus C

f A f B c
(D fungs gills gills
) gills lungs gills
(3) gills gills lungs
) lungs gills. lungs ]

- Which one of the following is correct about A, BandC?




* In which organ is the process of digestion completed?

A
‘@ B
® ¢

o

@

Reny planted 5 bean seeds in 5 similar pots, P, Q, R, S and T. He filled each .pot--with;.tﬁe
; same-amount and same type ofisoll. He.watered then daily with-different amount of ater
and then measured the height of the seedlings on the tenth day.

Pot

P Q R S T
Location Field Field Field Field Field
Amount of water given per day (ml) 15 _ 30 40 45 55
Height of seedlings (cm) 10 15 20 22 22

The aim of Remy's experiment is to find out if

{1 the type of soil affects the growth of the seedling

(2} the amount of fight affects the growth of the seedling
(3}  the amount of water affects the growth of the seedling

{4)  the temperature of the suroundings affects the. gfowth of the seedling




g. The picture below shows the various stagés in the life cycle of a mosquito. -

7. The diagram below shows the life cycle of an insect.

B TN
t %
F'A &/'

How many stages are there in the life cycle of this insect?

M 7
@ 6
@ 3

4 4 .

8.  The organs below are grouped according to the body systems that they belong to.
Which organ has been wiongly classified?

Respiratory System Circulatory System Digestive System
Lungs Heart Mouth
Gullet ‘ Blood Vessels Intestines
(1} .sHeart
(2) ;;.éullet
(3 Mouth

* (4) . Blood vessels

A B
Which of the following shows the correct order of development?
(1} ABCD
(2) BCAD
(3) CDBA

(4 ABDC



10.  Tim did a study of animals, X and Z. He drew 2 checkiist and placed a tick (+) in the box

when he made the observation.
At the end of his study, the completed checklist is as shown below.

' Observation ApimalX | Animalz
 Eggs are faid in water. v
| There are 3 stages in the life cycle.

v e

it has six legs.

Which of the following would be correct?

Animal X _ Animat Z
U] Butterfly Frog
- (2) ' - Frog | - Cockreach
(3)_ Mesquito Butterily
(4) Mosquito Cockroach

1. The diagram shows how 3 magnets, A, B and C are aftracted to one another.

J KIP ) Qjw
i
Magnet B

Magnet A Magnet C

Which of the faliowing statements best describe the possible interactions between magnets

A, Band C? :
A Jattracts X
B: KrepelsQ

C: Pattracts W .

(1 A and B only
{2) Band Conly
{3) AandConly
(4) A,BandC



12.  Mark conducted an experiment using an iron bar and magnet X as shown below.

g, . Magnet X

Which one of the following statements is correct?

(1) Part A ofthe iron bar will be the Nofth Pgle}

(2). . Magnetic strength of Magnet X will increase.

3) The number of strokes on the iron bar does not affect its magnetic strength.

4) ‘.The iron baf must be stroked in the same direction in order to make itinto a
temporary magnet. -

13. A magnet that is suspended on a string is made to rotate. -
Which of the following shows the direction it will face when it finally stops rotating?

M- ‘ @)

@)




14. David filled a basin with water and let a cork ﬂo‘at on it. He inverted an em

Pty glass directly
over the floating cork as shown in the diagram below.

(2)

(4)




. A magnet was used 10 PICK up tour types of metal filings (iron, steel, copper and aluminium)
of the same amount from a tray. Which of the following graphs correctly shows the amount
- of filings picked up by the magnet?

1 Key
fin tron Copper

- steel [} Aluminium

A
1) 7 @ £
Amount g Amount 5
offilings ’ of filings g
attracted 7 atiracted 2
by & by A
magnet : g . magnet : g j
! : i : : } iy }
st Co Al Al
3) )
X », ] . e
Amount |- g f; :: ’ Amount . §
of filings | N / . of filings M
attracted X g : attracted |
by N ¢ by N
. magnet ﬁ ’4 magnet : i‘\; -
% > —B >
Ir St Co Al Ir St Co A

16, VWhich ene of the following diagram comectly shows the water level when a watering can
that contains some water is tiited?

(1) 2)

waler level
water level ;

vatcying cin

(3) -4
water level water level

5




17.

18.

The diagram shows a paper clip *floafing’ towards the direction of a suspended strong

magnet. A book is held between the magnet and the paper clip.

What does the diagram show about magnets?

A: A magriet can-attract any metallic object.

B: The'magnetism of a magnet is strongest at jts poles. -
C: A magnet can altract a magnetic object without touching it.
D:  The attraction of a magnet can pass through a non-magnetic object.

()  AandConly
(2}  CandD only
(3) A, C and D only
(4 A,B,CandD

Different types of matter are put into four identical containers as shown below. If the
- capacity of each container is 600 crm®, which one of the foliowing containers is able to

contain ali the matter that is put in §t?

60{? cm® of 800 .cm®af 800 cm® of 600 cm®of
, oney oxygen salt pebbles L\v

(1)  AandBonly

(2)  AandDonly
(3) A BandD iy

(4 ABCandD



She recorded the number of pa

T e U G £

Hvileontally into a brg box of paper clips. She labelled each point of the m

agnets as shown,

per clips attracted at each point of the 3 magnets in {He table

below. :
Number of paper clips atfracted 2 each pointf-
Magnet '
A B e
X 12 12 3
Y -6 7 1
- 4 15 16 4

Based on Susan's results, which one of the following statements is true?

(M
€3]
(3
(4)

Magnetism of a herseshoe magnet is stronger than a bar magnet.

Magnet X has'the strengest magnetism among the 3 magnets.
Magnetism is strongest at Point A of a horseshoe magnet.

Magnet Y has the weakest magnetic strength.

20. .Bobby conducted the experiment as shown,

He placed 3 strips of different materials XY and Zinio
a shallow dish containing some red-coloured water.

The shaded portion shows the amount of coloured
water absorbed by the 3 materials after 2 minutes.”

Which of the following could be X, Y and 27

X Y Z
{H cardboard plastic tissue paper
(2) plastic fissue paper cardboard
@) | tsSuSpaper | plastic Cardboard
) tissue paper cardboard plastic

10

Red-coloured water

(Go on to the next page)




21. Benison placed a bafloon in a far and pumped air info the balloon as shown below,

space  balloon

jar

Fe wantéd the balloon fe fill the entire jar. He pumped more air into the balloon but could
not get the-balloon to filf the jar.

The bafloon cannot filf the entire jar because the
N (1) . balicori cannot be siretched
(2) air inside the jar cannot escape
(3}  jarhas a definite shape and volume

{4) air inside the balloon cannot be compressed

22. Jason placed 2 objicts on egch side of a lever balance and observed that the balance
stayed level as shown below.

What can Jason conclude about the 2 objects based on his observation?
(1) Both objects will sink when placed in water,

(2)  Bothobjects are made of the same material,

(3) Both objects have the same amount of mafter.

(4} Both objects occupy the same amount of space.




Juvs T IR Ol pupils expenmented with identical capped plastic containers filled with different .
amount of sand in a basin of water. The diagram beiow shows their experimental results.

plastic
container

Based on the puplls' experiment, which of the fellowing statements are likely to be true?

(1)
(2)
(3)
(4)

A

B:
C: -

D:

An emply plastic ¢ontainer wilt float higher than P.
A plastic container filled: entirely with sand willfloat at the same lovel as R.
The amount of sand In the plastic container has no effect on how high it floats.

The amount of air trapped iri the plastic container affects how high it can float,

" Aand C only

Aand D only
B, C and D only

A, Cand D only

24, James filled a test tube with about 30ml. of water.
Then he poured all the water into a bottle.
Which of the following changes would he observe in the bott! a7

(1)
(2)
3
(4)

. bofile -

Decrease in the water level

>

Change in the shdpe of water
Increase in the mass of water

Sow

Decrease in the volume of wates

A and B only

B and D only '
A, C and D only

A, Band Donly



I
f
i

. Whiteti of #ie. fé!lo.wing: electromagneis will be a_b'l‘é.fé affract ingiddhs *3Ei , % clips?

The batteries and najfs used irl alt the setups ars idériticg) to: Helansg USEd Above,

(1) Donly

(2) AandB only

(3) CandD only

4) B Candp only .




LD

our magnets (A, B, L and L) were placed under different conditions as shown below.

Which of the magnets will not lose its magnetism after half an hour?

A: B: ‘w Magnet B
mmering
‘ . ~ : -..“‘-‘. PP .
candle
Magret A
LS
C: B: .
2 :-—-"""\\
3 N
. \\ .
i N : Magnet D
(1) D only
(2) A and B only
3) C and D only
(4) B, Cand D only
27. The table below shows the properties of three substances.
Substance Shape Volume
X Not definite Definite
Y Not definite Not definite
FA Definite Definite
What could X, Y and Z be?
X Y z
§)) plasticine air fock
(2) sand- oxygen - plasticing
3 sponge air rock
4) coaking oil . oxygert plasticine




" Which one of the ft.:)lfowing statements is true about the Mmaterials used to make the ropes?

(1)  Materiai A is stronger than material B.
(2} Materdal Bis stronger than miaterial C,

(3) Materials B and D are equally strong.

(4) Materials A and C are equally strong,

29.  Study the flowchart below.

! ' Does it grow Yes L,T)o.es ithear | Yes |
Plants | on fand? ' fruits? ' A |
"No
_No ¥
v
| Deoes it bear Yes ¢
fruits? B
No
A
A

Based on the flowchart, which one of the following identiﬁcation_s could be true?

- (1) Acould be a banana plant.
(2 8 could be a water lily plant.
(3) Ccould be a tomato plant.
(4) D could be a fern.




30. The diagram below shows a communicating vessel, The openings.of A and I are covered

with stoppers. 1000ml of water is poured into the vessel through opening B.

A B C

(4)
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PART i
For questions 31 to 44, wiite your answers in this booklet. The number of

mark available is sh i
brackets { ¥ at the end of-eath quest:on er part ouestlon O ok

(40 marks)
31, Study the classification chart below.
With hair : P
Animals [ With feathers Q
Without hair — With scales R
4 Without feathers: |-
Without scales S

“Which group (P, Q, R or 8) does each of the following animals bel;)ng to? [2]

.]2

V£ o PR ST T




32.  The diagram below shows the digestive system of a rabbit.
A and B are two different paris of the digestive system

1]
Al
B:
(b)  The rabbit consumes about 5 kg of food in a month i keep it strong and heaithy.
Sarah predicts that its mass will increase by 5'kg every month.
Is she correét? Give areason for your angwer. [1}
{c) What will'happen to the rabbit if part B is removad from its digestive system? (1]

[————

ﬂ;m

{Go on to the nevt nanmal




33(a)

Linda caught a caterpilar and kept it in a glass containe

r as shown above. After a few days,
the caterpillar was riowhere to be seen but she found-a.

-case attached:to a leaf.

Describe two changes to the behaviour of the caterplifar during this time,

1]
(b) In the space below, draw the ife ¢ycle of a cockroach and-that of a'mosquito. [2)
Life cycle of a Cockreach Life cycle of a Mosquito
{c} Besides the information illustrated in (b), describe another difference between the life
Cycles of a cockroach and a mosquito. 1]

L 1]

o SN i A e oz




34. Sue had four big bags made of different materials. She put iron bails into the bags until they

tore. Sue récorded the maximum nember of iron balls each bag could hold and drew the bar
graph as shown below, o

A

Maximum

number of
iron balls-héid
Q R s Bag
(@  Based on the graph, which'bag is made of the weakeét material?

Give a reason for your choice. 1
—

‘_"‘-‘"“"‘_“——:-———._'# r——m—

—_—

(b) What is the relationship between the strength of the shopping bags and the number of iron
balls they could hoid? . [1]

| Based on the setup, compare the magnetic strengths of the 4 magnets.

Write down 2 comparisons that are true. . - [2]

(1)

2)

4

(Go on to the next page}




36, Michael placed a toy train in Tray X. Then, he moved a U-shaped magnet under the tray.
He noticed that each time he moved the magnet, the toy train would move in the same
direction. '

- Tray X

(a) From Michael's observation, what can you infer about the property of the toy train? i}

(b) - Michael classified four different object's accfording fo a'c;er{aiﬁ prox‘aer.t}. -

" Group A Group B
Iren pin ‘ Newspapef‘
Steel spoon Piastic file
In which group should he place Tray X? Explain your answer clearly. [1]

(c) Michael repeated-the-above experiment using the same toy tran. He reptaced Tray X with
another tray, Y which was of equal size and thickness. When Michael moved his U-shaped
magnet under Tray Y, the toy ta_‘ain did not move. . .

Based on Michael's observation, state 2 materials that Tray Y could be made of. 1

M

(2 .

3

13N Nt tho noavd mmeentd
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A week later, Tom noticed a very small patch of mould on P.

1]

(i} Describe Tom's observation of Q on the same day he discovered mould on P

(1

?

hown by Tom's ohsenvations of the 2 buns

thingsis s

ving

What characteristic of §i

Y
7

fi

(
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rerte T osnewwend v UES LIYLH,

() What would he observe if the switch is turned on? 1] switch

(e, | .
i, -Pile of papear clips
TeNes

{ii) Woufd his observation be similar if the iron nail

is replaced by a copper nail and the switch is
tumed on? Give a redson for your answer. ,

(1]
- (b} - Kenny next stroked two similar screwdrivers l}vitﬁ a maynet as shown in the diagram beloiv.
7 VAR
/v
_ of e oo
1 T ==
Screwdriver X Screwdriver Y
(20 strokes) (50 strokes)
() What is the relationship between the number of strokes and the strength of g temporary
magnet? [1]

i{?nny held screwdriver X next fo screwdriver Y A=
"HS'8hown on the right. ' | .

sCrewdriver X screwdriver Y

() What would Kenny observe when the

2 screwdrivers are brought nearer to each other?
Explain yoyr answer.

(2]

T

(Go on to the next page)
7




39. Philip hung four metal bars P, Q, R and S from a piece of rod.
They moved in different directions as shown in the diagram below.

—

S

(a) Based on the diagram, classify the four bars in the classification chart below. iz}
o [  Metal ]
| .
1

[ ~ Magnetic Material ] [ Non-magnetic Material }

NERR ) o

(b)  Which of the four metal bars are most likely to be magnets?
Give an explanation for your choice. _ (1]

I

(Go on to the next page)



40.

(a)_

(b)

A container with capacity of 500 cm® is filled with 50 cm?® of oil.
Jason pumped 50 cm” of air info the container with one stroke of a pump.

pum.p 500-cm® container

. 50‘cm® of oif

With two strokes of the pump, what will be the volume of air in the container?

Explain your answer. [2]

If the 50 cm?® of oil is entirely removed, what will be the new volume of air in the container
after two strokes of the pump? [1]




L parEW WAIRGU LU tFdnSIer SoMme HYWd Mo a conicat flask. He placed a funnel over the flask as

shown and.poured the liquid through quickly. He noficed that the liquid dripped into the conical
fiask at a very slow rate.

(@ Give a'teasen why the liquid dripped into the conical flask S0 sfowly._ {17 .

()] Suggest what Andrew could do so that the liquid could drip into the flask more quickly
through the funnel. : 1]

.

L_Jz2]

{Go on to the next page)

10



42(a) Vincent filled a glass to its brim with identical marbles so - glass

find the volume of the glass.

He. concluded that the volume of the giass is the total
volume of all the marbles-in it.

marbles

Do you agree with Vincent? Explain your answer. . . _ e i o1

.

(b}  Vincent has two jars, A and B, as shown in Figure 1.
He poured all the sait from Jar A into Jar 8 as shown in Figure 2,
Vincent observed that the salt now took the shape of Jar B.

Jar A Figure 1 JarB

Jar A

Figure 2

He concluded that salt has no définite shape. Do you agree with him?
Give a reason for.your answer. [1]




oo e e prvana mvYe @ Lyniae COmaining a brown gas.
The two containers are separated by a cardboard as shown b&lacii,

empt)(- fl ask

_cardboard

cylinder of brown gas

artt

At the stait'6f the experiment .

- Atthe end of the experiment
The cardbdard was removed from between the 2 containers. -

(a) Based on the diagram, describe the results of this experiment.

(1

aft
14

(b) State the 2 properties of the brown gas that are shown by the above experiment.

{1
(i

{#)

2

{Go on to the next page)
12



44, Peipei's brother spilled some mitk on the floor. Their mother used a piece of sponge to wipe
off the milk from the floor. Peipei observed that the spillei milk was easily wipéd”é'ff'.

She then set up an experiment fo study the property of the sponge. She fied simitar sponge
to a stone and placed them gently into a displacément car filled With water-as showrs below.

displacement can—E==

sponge —
stone

After Peipei took the sponge and the stene out of the-displacement can' she carefully poured
all the water coliected in the beaker back into. the displacement can.

(@ Inthe diagram below, draw the final water level in the displacement can after she had poured
all the water from the beaker back. [1]

l

RN

(b}  Give areason for your answer in (2) e ) [1]

IE

- Fnd nf Ranlkdlat R _
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Maris Stella High Sctiool (Primary)
Semestral Assessment 1
Correction Tempiate
] u g - 2 . ~ 3

{a) A; digested food {Wrong answenr: food)

B: water

(b) No. Some of the food consumed is  Undigested and is passed ouf as waste

c) It willbe _dehyraled

(6} - Cockroach ) Mosquito

{wriggler)

(c) The cockroach spends its___entire  ife cycle on fand _ but the mosquito spends

part of its life cycle in veater
OR The cockroach_ laysitseggs on land but the mosquito lays its eggs i,
" water

OR The young of the cockroach resembles its adult but the young of the mosquito does not.

1



(© Iron, steel, nickel or cobalt

@] P .1t could hold the least |  numberofiron balls before tearing.

(b) | The _ 9reater the (maximum) number of iron balls the ba:é; é;aiild hold, the

stronger the bag.

Magnet C¥s.has stronger magnetism than magnet A
OR Magnet A has a weaker magnetism than Magnet C

. stronger magnetism
Magnet D has

than magnet C/magnet A. OR
vice versa. o S

magnetic

() | The toy train is made of material. :
(b} § B Tray X is made ofa___ 1P - Magnetic material Just like the objects in Group
Basit allows magnetism to atract  the train to

move it in the direction of the magnet.
(Note: The word “aitract/ is a keyword here)

37() | @) _Presence only fortwo set-ups  of water rartial answer: water / bow! of water

(i)__To find out if a hamster fliving thing _Nheeds water o survive
To find out if presence of water affects the ____survival of a hamster/living thing,

+

(i) There is__more /a bigger patch of mould growing on Q.

{b)

(a)(i) The iron nail will attract some paper clips.

(i1) No.___copper isa non - magnetic material and could
not be magnetised . '

(o)i) The greater  the number.of sfrokes the stronger  ¢he

(i) The 2 screwdrivers will move away from  each other as their fike poles

are facing each other and they __!'_G_E?_[_q

{(Note: Repulsion is a concept not an observation,)




Ty

ry s

<

@@ P, QR ' _
(b) Pand Q as théy are . _Moving away

from each other and only magneis

repel each other
can

. Since the o]

has a fixed volume

of 50 cui® / cérmot

be compressed, the air puraped in will il up the remaining volume as air does nof have q

ﬁ)‘(ed volume_a - / can be campressed.

a) Air in the flask could not escape to make space for the fiquid to
drip in.
Air in the flask could not be displaced

by the liquid as the air could not escape.

“ab

B)_ % the fuanel up.to pour the water through

(a) No. There are air spaces

Between the marbles that cannot occupy

by the marbles as each of them hasa___ definite volume

(b). No‘Sait

saild definite shape

¥

(@) The brown gas spread outand___filled up ccoupied
(b) Ithas no definite shape

OR1t tak.es the shape and volume of the confainer i

both confainers.

and it has no definite volume

tisin

[

e
PG EI L AN 127
(:%4’.'1.7-3}

T R e s e
3 "‘—-aﬂ- i R PO

= T
SR R L

Water level must be drawn with Straight line,
. I stightly below the sprout.

(b) The sponge has absorbed some of the

water /Sponge is abisorbent.
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